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EANEERRY—EXRS

(MERAUENTEETDI-HDTFE) (BEfz: 1)
B & # B 2EETHE JFEFHE = =B
KEIRA 2,612,000 2,629,000 -17,000
EEEESEIA 2,570,000 2,590,000 -20,000
BFAIEESEIA 42,000 39,000 3,000
FTEUIA 1,000 1,000 0
ZRDHDEFFEURA 1,000 1,000 0
REREMABSIRA 1,852,000 502,000 1,350,000
HXETH B EIRA 1,850,000 500,000 1,350,000
BEEEMHBEIIA 1,850,000 500,000 1,350,000
B EURA 2,000 2,000 0
BHEESHBSIA 1,000 1,000 0
iR B RB ARSI 1,000 1,000 0
SHELIA 1,000 1,000 0
SEELINA 1,000 1,000 0
A ZRHDEEEIRA 1,000 1,000 0
S EERYSINA 1,000 1,000 0
Z I B E L S UXA 1,000 1,000 0
SR EE LEIRA 1,000 1,000 0
Z DD IXA 137,000 50,000 87,000
ZAHEZEIRA 60,000 20,000 40,000
HULA 77,000 30,000 47,000
X HIRA 77,000 30,000 47,000
*

S EXFHRAGW) 4,604,000 3,184,000 1,420,000
EXEXH 649,000 708,000 -59,000
& REEH X H 150,000 150,000 0
EXTE- 476,000 486,000 -10,000
< HWREEFEXH 230,000 240,000 -10,000
ES HEREE 246,000 246,000 0
% FHHIH 1,000 1,000 0
AR X 1,000 1,000 0
1R e 1,000 50,000 49,000
RESMEXZL 20,000 20,000 0
E EBEXH 6,351,000 6,896,000 -545,000
REXBEEXH 654,000 732,000 -78,000
- HBEREXH 654,000 732,000 -78,000

H
PHERR T E X H 1,000 1,000 0
EHHEEREXH 1,083,000 1,168,000 -85,000
HEREXH 1,083,000 1,168,000 -85,000
EIEEES- $3=] 150,000 150,000 0
PR E T H 40,000 50,000 -10,000
EfEE X 100,000 100,000 0
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B ®# B 2EEFHE SIEEFEE = B
BIEERERLE 453,000 431,000 22,000
SEEXH 43,000 46,000 -3,000
[LERE X H 50,000 50,000 0
FHHZH 444,000 518,000 -74,000
RIEF 2 H 140,000 130,000 10,000
BEEHZH 2,300,000 2,604,000 -304,000
=2
x _
bl MR AE 75,000 75,000 0
2 - REPRRH 595,000 604,000 ~9.000
*
f’
i
% | H
HNELH 40,000 50,000 -10,000
HEEXE 132,000 136,000 -4,000
HEHBREXH 1,000 1,000 0
BREXH 50,000 50,000 0
BEETH 867,000 770,000 97,000
AL H 867,000 770,000 97,000
HELEEEIXIESX8HETH 817,000 670,000 147,000
RigAEERIEEI N 50,000 100,000 -50,000
EXFFHHEQ 7,867,000 8,374,000 -507,000
EEFHERUNZEZI(3)=(1)-(2) -3,263,000 -5,190,000 1,927,000
Z3) ljr} 0 0 0
ué@ A [BERERERAG@ 0 0 0
Fd
“Tﬁ EEEERSIH 1,000 1,000 0
%ﬁ 52 HiERERE X H 1,000 1,000 0
- | & B 5E i S AR5 H 1,000 1,000 0
x It S B e S X HH EH(D) 1,000 1,000 0
MR B EE LIV =%8(6)=(4)-(5) -1,000 -1,000 0
- P X o AR A R UXA 1,584,000 3,204,000 -1,620,000
€ AR D RRASINA 1,584,000 3,204,000 ~1,620,000
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. B E # B 26 ETHEE SIEETFHE = =
#t NEREBENARSRHRASIA 1,000 1,000 0
D IR BEEILY - AFE AR RASIRA 1,000 1,000 0
gj EBRTEEFENARSMBASINA 1,000 3,201,000 -3,200,000
(= RORELBEEEMARSMRARINA 1,581,000 1,000 1,580,000
& | A |[PERARSEBAZIRA 1,000 1,000 0
ﬁ:;’z H—ERR D RE@BADILA 1,000 1,000 0
% BFRSHEEEY-tARSMRASIRA 1,000 1,000 0
— Z DD EENURAEHT) 1,585,000 3,205,000 -1,620,000
EXRSHERAEH 1,000 1,000 0
7 EERDEBRARIH 1,000 1,000 0
O ARBERHEEALSTH 1,000 1,000 0
it | % [MRRSERAEZH 1,000 1,000 0
? A RS RIRAS T 1,000 1,000 0
g'; PRBEMARSMBAS T 1,000 1,000 0
= H—EAR D EEAE I H 2,000 2,000 0
£ | H H—E AR REA S X H 2,000 2,000 0
%) HMEERBER L ARSHRAR R 1,000 1,000 0
W SR Rt AR SREA St 1,000 1,000 0
E Z DD FEENZ HEH(8) 4,000 4,000 0
DD EEE RINK EEE(9)=(7)-(8) 1,581,000 3,201,000 -1,620,000
¥ fis & 32 Hi(10) 10,000 10,000 0
HHE U EZE S ET(11)=(3)+(6)+(9)-(10) -1,693,000 -2,000,000 307,000
BIAIAXILE & Em(12) 1,693,000 2,000,000 ~307,000
LHRZILEEERSU1)+(12) 0 0 0
IR A B EH)+H@)+7)+(12) 7,882,000 8,389,000 -507,000
T H A ETQ@+5)+8)+(10) 7,882,000 8,389,000 -507,000
=51&e 0 0 0




HEMEEREEXY—EARS

GEABERUMIBEHICZRIBEDAUHEETE) (B M)
B & ® B 2EEFEL JFEFHE = B
y BREREMBMEIRA 48,921,000 50,000,000 -1,079,000
: X ET @B £ IRA 48,921,000 50,000,000 -1,079,000
A EEEMHBEIA 48,921,000 50,000,000 -1,079,000
£ EEFHRAGA) 48,921,000 50,000,000 -1,079,000
ANEEZH 52,389,000 52,974,000 -585,000
* BB X H 33,878,000 34,646,000 -768,000
&
BEE5XH 11,013,000 11,206,000 -193,000
2 EERMNEXH 7,498,000 7,122,000 376,000
2 | x |EBEXH 566,000 671,000 -105,000
BEIEEERH 245,000 265,000 -20,000
i3
5 | ® REXBE X 150,000 200,000 ~50,000
BEERES N 150,000 200,000 -50,000
Ix BHERRZE 8 3 th 120,000 100,000 20,000
EREHEREYTH 51,000 106,000 -55,000
¥ HESBETH 50,000 105,000 -55,000
— S2 8 EH & 1,000 1,000 0
EXRFHBIZHEQ) 52,955,000 53,645,000 -690,000
EXFEESINZEZE(3)=(1)-(2) -4,034,000 -3,645,000 -389,000
= ljr} _ _
it:_ﬁ A MR BIEEIRALT4) 0 0 0
CEE X
LE W [EREEEZHEG) 0 0 0
R ERE RS NEEBO=1)5) 0 0 0
B g X 52 el AR AURA 6,001,000 4,691,000 1,310,000
B2 X 50 Rl AE AR A 6,001,000 4,691,000 1,310,000
r%- qy EBMTEEBENARSERARIIA 1,000 4,691,000 -4,690,000
0) MORESEEZEMARSEBRASIA 6,000,000 0 6,000,000
ith Y—EXRSEBEAZIRA 1,000 1,000 0
o | A H—EXRSEHRASIRA 1,000 1,000 0
pr EABEEEY-CARSERARIRA 1,000 1,000 0
EJ) Z DD FEIURAEH(T) 6,002,000 4,692,000 1,310,000
(< Y—EXARLERAEZH 3,105,000 3,027,000 78,000
& | % H—EXRSERAS X H 3,105,000 3,027,000 78,000
2 EABEBEY AR RASTH 1,000 1,000 0
13',% BEEISY-CARSHBAS I 3,103,000 3,025,000 78,000
= SEELF Y —CAEARMRASE 1,000 1,000 0
Z DD EENZ HEH(8) 3,105,000 3,027,000 78,000
ZFDHMDEEE I = 58(9)=(7)-(8) 2,897,000 1,665,000 1,232,000
¥ fF & X H(10) 20,000 20,000 0
LHIEEUINZ EEE S ET(11)=(3)+(6)+(9)-(10) -1,157,000 -2,000,000 843,000
T ES N e 1) 1,157,000 2,000,000 ~843,000
LRI EEERSU1)+(12) 0 0 0
IRAEE 56,080,000 56,692,000 -612,000
XA 56,080,000 56,692,000 -612,000
=51&S 0 0 0




BEBBISY—EXRS

(EBEDRBEIEFE) (B )
B E 8 B 2FEFHEE JFEFHE = &
15y I
ux% EEFHIAGW) 0 0 0
E’E % AGEEZH 0 0 0
_ﬁ{l m RS 0 0 0
1= EZTHITHIQ) 0 0 0
S [EEEHE2RZE=E0-1)-Q) 0 0 0
& ¥ l}f _ _
%% M EE B EFURAEH4) 0 0 0
Iy £
% 1 ﬁ
—F EREREZHEG) 0 0 0
I~ EEERZEE e RE=80)-4) ) 0 0 0
EEXDEBEARZINA 768,000 744,000 24,000
$¥E’\F‘aﬁ%ﬁ)\$u§z)\ 768,000 744,000 24,000
ABRBERSEHRASINA 768,000 744,000 24,000
B X AR A S UIRA 1,276,000 1,251,000 25,000
z B X 5 R AR URA 1,276,000 1,251,000 25,000
D |y FRELEENARSHRAZIRA 276,000 262,000 14,000
1‘["_1, NERERBENARSEBRASIA 263,000 285,000 _22’000
:0) EEIEUY -t AE XM AR S EHRASIRA 737,000 704,000 33,000
g'; A [H—EXRHRERASIA 3,103,000 3,025,000 78,000
- H—E XX REEASIA 3,103,000 3,025,000 78,000
J: BABERBELEI-LARHRIBASIRA 3,103,000 3,025,000 78,000
3 TOMDFEICEDHIRA 0 0 0
il)r} ERFLBENEETETEIANA 0 0 0
*x Z DD EENURAEH(T) 5,147,000 5,020,000 127,000
~ | % TOMDFEIC LD H 5,147,000 5,020,000 127,000
m BRF YT ESTATS XM 5,147,000 5,020,000 127,000
Z DD EEI S HE1(8) 5,147,000 5,020,000 127,000
ZDMDFENE L INZ ZEEE(9)=(7)-(8) 0 0 0
¥ fm & 2 Hi(10) 0 0 0
HHE R UNZ ERESET(11)=(3)+(6)+(9)-(10) 0 0 0
ARV EEES12) 0 0 0
LRI ILERESU1)+(12) 0 0 0
IRA & 5,147,000 5,020,000 127,000
XHEE 5,147,000 5,020,000 127,000
=51&5 0 0 0




B EAERY—EXR S

(Mg ELEEN T E) (Bfi: M)
B & ® B 2XFETEL INEEFEHEE = B
BREREHEBESIRA 301,000 301,000 0
I Bk & URA 301,000 301,000 0
A BHEESHBLSIA 1,000 1,000 0
BB EINA 300,000 300,000 0
EEFBIRAG) 301,000 301,000 0
EXEXH 1,750,000 1,882,000 -132,000
HRESREREREXH 145,000 150,000 -5,000
RIEFI X H 130,000 130,000 0
HRE T H 195,000 115,000 80,000
HiREEEXH 180,000 100,000 80,000
B E 15,000 15,000 0
g HHERR TR & 2 H 10,000 15,000 5,000
w SEEES 1,000 210,000 -209,000
73 L% X 750,000 1,050,000 300,000
) FHHIH 1,000 50,000 -49,000
- e H 505,000 160,000 345,000
| X
)
Iy _
% | & RAEXEXH 12,000 1,000 11,000
~— A EREEREEEETH 1,000 1,000 0
BB EXH 4,077,000 4,082,000 -5,000
B 4,077,000 4,082,000 -5,000
Xt BB E X 4,077,000 4,082,000 -5,000
EXEHXHEQ) 5,827,000 5,964,000 ~137,000
SEEFHESIZ EE(3)=(1)-(2) -5,526,000 -5,663,000 137,000
= I}
i(:@ i MEEREEEINAGA) 0 0 0
374
LB W [EREEEX LG 0 0 0
o I ES T S OE0R0 0 0 0
Wa X EEAESIA 5,318,000 5,567,000 -249,000
B2 X 7 R AE A S URA 5,318,000 5,567,000 -249,000
NERRBENEXR D EBRASIRA 1,000 1,000 0
— [EERUY-ABENSAR S HEBASIIA 1 ,000 1 ,000 0
0%) EERC RS AR AERAT A 1,000,000 1000 999.000
# 1}% ROREGEERRMAZIMBASRA 4,316,000 5,564,000 -1,248,000
5'-;: H—ERXR S ERAEZIRA 2,000 2,000 0
3] Y—EXRDREBASIRA 2,000 2,000 0
[Z HENEEEEY-CARSRBASIA 1,000 1,000 0
& HMEEHEEEY-UARARIRASIA 1,000 1,000 0
G Z DD FEEIURAFL(T) 5,320,000 5,569,000 -249,000
2 AR S RHEA S Z i 10,000 10,000 0
X WARSEBAS TN 10,000 10,000 0
ﬁ HAAESEISFENARIUBAL T 1 0,000 1 0,000 0
Z DD EEI X HE1(8) 10,000 10,000 0
ZFDMDEEE S INK EEE(9)=(7)-(8) 5,310,000 5,559,000 -249,000
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B & # B 2FEETEE JFEFHE = B
Flie&EXH00) 2,000 2,000 0
LB RN EFEEET(11)=(3)+(6)+(9)-(10) -218,000 -106,000 -112,000
AR EELES(12) 218,000 106,000 112,000
LHRTILEEEE(11)+(12) 0 0 0
v A&Et 5,839,000 5,976,000 -137,000
THEE 5,839,000 5,976,000 -137,000
=51% 5 0 0 0




BIULDELKYEEY—ERR S

(FTZAEE MRUBFEBDRIL. TBEZTFE) (BifT: M)
B # B 2EETHE INFEEFHE = &
I ZEEEUNA 500,000 500,000 0
T XBTAT ZEERURA 500,000 500,000 0
= | 2 BILOELIYBERERIA 500,000 500,000 0
E EEFHIRAGW) 500,000 500,000 0
) EXEXH 0 0 0
z % HERERERERH 0 0 0
& B EX 500,000 500,000 0
S [ BREX® 500,000 500,000 0
R XL B = % 500,000 500,000 0
_BE EXFFHHEQ 500,000 500,000 0
SERBESINZEE(3)=(1)-(2) 0 0 0
w | IR
CHl A FRERERAH® 0 0 5
L
ﬁ{fﬁ H | e 2% B i 2 XX 51 (5) 0 0 0
Pl SR B & IR = 56(6)=(4)-(5) 0 0 0
mn Il 0
- ¢| A |Z0thDEEHURAET) 0 0 0
Xy Orx
— 5 fth : =
% ol | Z DD ES) X HiEHE) 0 0 0
Bz D0 E BRI EEEO)=(1)-O) 0 0 0
¥ & X H(10) 0 0 0
LHIE LI EEE A ET(11)=(3)+(6)+(9)-(10) 0 0 0
I ES RN e 1) 0 0 0
SHRZILEEES11)+(12) 0 0 0
IRA&ET 500,000 500,000 0
X HEE 500,000 500,000 0
E515%s 0 0 0



WERREEET—ERARS

(ITZAEE BESHETFTE) (B fL: M,
B E 8 B 2FEFHEE JFEFHE = &
I ZEEEUNA 9,060,000 9,420,000 -360,000
X ETF ZEEEIRA 9,060,000 9,420,000 -360,000
= | A BESBREBEZRSIA 9,060,000 9,420,000 -360,000
F EEFHIRAGW) 9,060,000 9,420,000 -360,000
& B E X H 9,060,000 9,420,000 -360,000
) Bhpk & X H 9,060,000 9,420,000 -360,000
T % Xt E R H 9,060,000 9,420,000 -360,000
%
R | H
53
EEEFHZHEQ) 9,060,000 9,420,000 -360,000
EXTHESINZEZEB)=(1)-(2) 0 0 0
=S ljr}
=Te| A |[MEEREMEIRALTA) 0 0 0
Zrwl %
ﬁ% H RS HEG) 0 0 0
Pl iR B S E S IR E5(6)=(4)-(5) 0 0 0
3 ljr}
qyg'{: A | Z0HDESHIRAET) 0 0 0
Xz X%
H%tﬂi’ H [ ZDthDiEEIZ HEHS) 0 0 0
ED D ED & 2R % =5 (9)-(1)-(8) 0 0 0
¥ fi & 32 Hi(10) 0 0 0
LSS UNZ ERESET(11)=(3)+(6)+(9)-(10) 0 0 0
AR XL EFIxE(12) 0 0 0
LHRZILEEERSU1)+(12) 0 0 0
IRA&ET 9,060,000 9,420,000 -360,000
XHEE 9,060,000 9,420,000 -360,000
=5|15%5 0 0 0




DECEHEBMEESEY—EXRS
(FTZEEEE DEBEILHERFEEEE) (M)
B xE ® H 2EEFEL INFEEFHE = &
I ZEEEUNA 174,000 174,000 0
T XBTAT ZEERURA 174,000 174,000 0
g ]\ DECEHARFMEESTERIASINA 174,000 174,000 0
% BEIFEHIRAGA) 174,000 174,000 0
ﬁg EXEXH 174,000 174,000 0
iz | X fiREE 3B & X th 30,000 30,000 0
X ZEFREXH 30,000 30,000 0
3| & RS 144,000 144,000 0
IR EEEHZHE?) 174,000 174,000 0
EXTHESINZEZEB)=1)-(2) 0 0 0
Il
(%;%E A MR BIESIRA@ 0 0 0
oLk
DE| i (EREEEXZHEG) 0 0 0
DR R & 5 N % = (0)=4)(5) 0 0 0
E ljr}
uyg'%‘ A | Z DD EENURAEHT) 0 0 0
Iz %
— &Mt [Z 0D EENX HEHE) 0 0 0
S Z Db EBE S IR % =50)-(1)(8) 0 0 0
¥ fim & 32 Hi(10) 0 0 0
HHE U ERE S ET(11)=(3)+(6)+(9)-(10) 0 0 0
B R % th B 2 P (12) 0 0 0
ZHRZILEERERSU1)+(12) 0 0 0
IRA&ET 174,000 174,000 0
XHEE 174,000 174,000 0
E=5|15%5 0 0 0
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RIVTAT R A—BEERY—EARS

(BIZEFE . RIVTATEVI—EEFE) (B[,
B & ® B 2EEFEL JFEFHE = B
I ZEEEUNA 1,031,000 980,000 51,000
T XATH ZESUIRA 1,031,000 980,000 51,000
A RIVTATE A BEEBEZTEEIA 1,031,000 980,000 51,000
EEFHIAGA) 1,031,000 980,000 51,000
AHEXH 0 0 0
BB AR 0 0 0
BEE5XH 0 0 0
EERANERZH 0 0 0
F EXEXH 1,031,000 980,000 51,000
" HESRERREH 280,000 279,000 1,000
s
RIEF X H 6,000 6,000 0
= SfafixH 106,000 107,000 -1,000
iz | % REREE 5,000 5,000 0
HEERE 5,000 5,000 0
53 HHEM T E X H 5,000 5,000 0
W FIRIEAE X H 30,000 30,000 0
2 EEEIH 70,000 70,000 0
5 BIEERE X H 204,000 203,000 1,000
+ e H 300,000 250,000 50,000
BEEXH 25,000 25,000 0
EHREXH 0 0 0
EAEEEZH 0 0 0
| |EXEHHEO 1,031,000 980,000 51,000
SETHESINZ EE(3)=(1)-(2) 0 0 0
IR
i'%;ﬁ A [EREBHSRAGAG 0 0 0
oLt B
@TE; H R EEE X HEG) 0 0 0
Al R B e E 2 I = 56(6)=(4)-(5) 0 0 0
3 ljr}
ng:—; A | ZD D ESHIRAEHT) 0 0 0
¥Izo| %
~§1£ H | 20D ES T HETS) 0 0 0
ZDDFEHE T INFZ Z%8(9)=(7)-(8) 0 0 0
¥ fE & X H(10) 0 0 0
LHIE S INZ EEE S E1(11)=(3)+(6)+(9)-(10) 0 0 0
AR EF &= (12) 0 0 0
LRI EEERSU1)+(12) 0 0 0
IRAEE 1,031,000 980,000 51,000
FHAE 1,031,000 980,000 51,000

=515%5 0 0 0
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EEXERFHIRFEERT—ERARS

(M2 E BEMEFZXERHTEEEECRLITE. BEADEERVALGES) (Bifsr:M)
B # B 2EEFHE SIEEFEE = B
I ZEEINA 6,617,000 7,110,000 -493,000
HRAETA ZEEEURA 6,617,000 7,110,000 -493,000
A EERBEAHBHESEZTISWMA 6,617,000 7,110,000 -493,000
EEFHILAGO) 6,617,000 7,110,000 -493,000
AGEEXZE 4,901,000 5,042,000 -141,000
BB R H 3,026,000 2,821,000 205,000
BEESZH 911,000 875,000 36,000
FEHBEHLKEXE 338,000 760,000 -422,000
EERHNE R H 626,000 586,000 40,000
EEEIH 1,390,000 1,749,000 -359,000
HEREREREXH 70,000 80,000 -10,000
=2
E S BIEEKRER L 74,000 63,000 11,000
E HERE 45,000 27,000 18,000
B 45,000 27,000 18,000
)] RERBE R 858,000 1,248,000 -390,000
| FEEEREXE 858,000 1,134,000 -276,000
- | %
J: [>a=]
" HEMEEZ LT 112,000 114,000 -2,000
3
I s a2 X 180,000 240,000 60,000
b2 .
— BREXH 51,000 91,000 -40,000
EHREXH 50,000 57,000 ~7,000
EAEEEXH 0 0 0
mREXBEXH 23,000 35,000 -12,000
EBEREZH 23,000 35,000 -12,000
EMEERE 6,000 12,000 -6,000
EHHELEIH 21,000 10,000 11,000
HEREXE 21,000 10,000 11,000
EXEHXHEQ) 6,341,000 6,848,000 -507,000
EETHEDINZEZA(3)=(1)-(2) 276,000 262,000 14,000
= i)} _ _
il:ﬁﬁ A [BEREBRBZRAG 0 0 0
L% %
f% H[FEER RS HET(5) 0 0 0
R R = a o N % =88(6)—(4)—(5) 0 0 0
I g XA SINA 1,000 1,000 0
i~ L 25 X 5 R 48 A SR A 1,000 1,000 0
o) i EH B EN AR D RRASIA 1 ,000 1 7000 0
j‘;’zﬂt A [Z0ithdEEIRA (D) 1,000 1,000 0
%P | X REXAERASXH 276,000 262,000 14,000
I EXERAEH 276,000 262,000 14,000
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B xE ® B 2EETFHE IFEEFEE = B
E_)_J IR B LR AR S RBAS I 276,000 262,000 14,000
<] & Z DD ESNZ HEH(B) 276,000 262,000 14,000
& FDHDEENE UK EEE(9)=(7)-(8) -275,000 -261,000 —14,000
¥ EEXZ H(10) 1,000 1,000 0
LEIE S INZ EEE S 51(11)=(3)+(6)+(9)-(10) 0 0 0
Bl X Th B & am(12) 0 0 0
LR TIEEERS(11)+12) 0 0 0
IRAEET 6,618,000 7,111,000 -493,000
XA 6,618,000 7,111,000 -493,000
E51&S 0 0 0
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AEFERIEERY—ERARS

(HREERHOEICLIFETEH) (Bfr: M)
B xE ® H 2EEFEL JFEFHE = B
RERE@EhEIRA 6,338,000 6,148,000 190,000
EEZEEE D SULA 6,338,000 6,148,000 190,000
Iz —BEEESEIRA 3,438,000 3,648,000 -210,000
BRTHHOESSIIA 2,900,000 2,500,000 400,000
SZIFEERYSINA 1,000 1,000 0
A ZEF BE S S URA 1,000 1,000 0
ZERFEE HEIRA 1,000 1,000 0
BEFHIRAFO) 6,339,000 6,149,000 190,000
HEESRHSELEE 6,349,000 6,159,000 190,000
—REERIEEXE 3,448,000 3,658,000 -210,000
T LI -BERETHE 260,000 283,000 -23,000
x —
ZEANRALESE 2,118,000 2,155,000 -37,000
e
)
1z
EER-ERILEHE 130,000 180,000 -50,000
S
z BF XFEALEHE 280,000 480,000 -200,000
1R . AR EMEDE 410,000 460,000 -50,000
E KEARRERE 250,000 100,000 150,000
BR-T THLVERISEEE 2,900,000 2,500,000 400,000
BREEXH 1,000 1,000 0
EXRFBIZHEQ) 6,349,000 6,159,000 190,000
EERBERITEZEQ)=(1)~(2) -10,000 -10,000 0
I
(= %ﬁ A BB BBEEIRAGA) 0 0 0
52 s %
— d
@T; i [FRE BB % B (5) 0 0 0
MR B HEEESINTZE28(6)=(4)-(5) 0 0 0
Wa X EEAESINA 10,000 10,000 0
F | X WX DRERAEIA 10,000 10,000 0
z fé ISR S LA K SRR A SULA 10,000 10,000 0
iy} A BEELY -t 2B EIAR SEBARILA 0 0 0
34 ZDHMDEBIRATD) 10,000 10,000 0
= | B [Z0hD;EEIZ HEHS) 0 0 0
& [0t D EBHE S INZ ZE6(9)=(7)-(8) 10,000 10,000 0
¥ 1w & 2 H(10) 0 0 0
LB S UNZ EZEEET(11)=(3)+(6)+(9)-(10) 0 0 0
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Rl X Th B & am(12) 0 0 0
LHIRTIERZES(11)+(12) 0 0 0
IR A&ET 6,349,000 6,159,000 190,000

XA 6,349,000 6,159,000 190,000

=51% 5 0 0 0
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BEN

EXBEEXRYEARS

(BENEZETEMEETE NERBREEDITIIVERERUNEZEEMEDOASE)  (HAL:H)
B # H 2EEFEL JFEFHE = B
NEREEEXIA 7,448,000 7,448,000 0
BENMEIENEHIA 6,674,000 6,674,000 0
FBENMEIENERIRA 6,674,000 6,674,000 0
I
Y EERINA 0 0 0
ZTDDEZEILA 774,000 774,000 0
A ZEEEEIA 774,000 774,000 0
Z DD IRA 1,000 1,000 0
HIRA 1,000 1,000 0
HURA 1,000 1,000 0
EEFHIAGA) 7,449,000 7,449,000 0
AHEXZH 6,112,000 6,112,000 0
BB AR 0 0 0
3 BEESXH 0 0 0
" EEHBEHREX L 5,276,000 5,276,000 0
b EEEANEXH 836,000 836,000 0
EXEXH 1,563,000 1,605,000 -42,000
E2) HERERREX T 40,000 40,000 0
- RIEFI X H 40,000 40,000 0
= EfEFxH 577,000 600,000 -23,000
&£
7 | X B E 3 i 216,000 198,000 18,000
B E 216,000 198,000 18,000
Iy WREXBEXH 10,000 10,000 0
R ERE X H 10,000 10,000 0
% | H HEMR B H 78,000 106,000 ~28,000
R EARE X H 10,000 10,000 0
EfEE X H 150,000 150,000 0
BIEERE 200,000 200,000 0
FHHIH 25,000 10,000 15,000
REH R H 216,000 240,000 -24,000
BREEXH 1,000 1,000 0
EBEXH 60,000 58,000 2,000
EAEEEZH 60,000 58,000 2,000
EXREPHEQ) 7,735,000 7,775,000 -40,000
SXRFERINFTZEZA(3)=(1)-(2) -286,000 -326,000 40,000
I
| A | S ImA@ 0 0 0
Iy 2 (B & B 1S S i 2,000 2,000 0
i% - HEEMRE G H 1,000 1,000 0
o FRERE IS X H 1,000 1,000 0
(= HERUMERREXH 1,000 1,000 0
& BREHmEXHEG) 2,000 2,000 0
% |EREBBHEE LIV ELE(6)=(4)-(5) -2,000 -2,000 0
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B ® H 2EEFEL IFEFHE Al
J Y—EXR S HERAEIRA 1,000 1,000 0
7z | ® —E ZX D REARINA 1,000 1,000 0
)] A F-bAl 7 EEY AR S RRASIA 1,000 1,000 0
1t Z DD FEFHIRAET) 1,000 1,000 0
? AR S ERAS X 1,000 1,000 0
] WERHRERASZE 1,000 1,000 0
EEE b2 MR E R AR S RHEA S 1,000 1,000 0
& H—EARDERAE I H 400,000 500,000 -100,000
5 | W H—E AR RERAS T H 400,000 500,000 -100,000
I H- LAY BRY - AESTHRA S 400,000 500,000 -100,000
X Z DD IESNZ HEH(B) 401,000 501,000 -100,000
— |z 0thnEEEEIRZ EEE()=(1)-O) -400,000 -500,000 100,000
¥ 1w &2 H(10) 10,000 10,000 0
LEAE DI EEE A ET(11)=(3)+(6)+(9)-(10) -698,000 -838,000 140,000
AR L EFRE(12) 698,000 838,000 ~140,000
LEHRZILEEERS11)+12) 0 0 0
IRA&ET 8,148,000 8,288,000 -140,000
X HEE 8,148,000 8,288,000 -140,000
E=51%s 0 0 0
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IR—LANIILVTEE Y —EXRXR S

GRNEEZE(FMEETE NERREEDSBNESTE. A AN -"RUZBBAIIN-DAGELE) (Bf1:/M)
B xE & B 2EETEE IFEEFEE = 2
ZEEURA 1,000 1,000 0
HXETF ZESIRA 1,000 1,000 0
FETCEBEAMN-TRESTEZITSWMA 1 ,000 1 7000 0
SEIRA 30,000 30,000 0
ZTRDEZEILA 30,000 30,000 0
FAFIRA 30,000 30,000 0
NEEFRREBZEIA 12,395,000 12,399,000 -4,000
BESEEULA (A FERBNIA) 6,519,000 6,521,000 -2,000
BB U A 6,518,000 6,520,000 -2,000
N EEF B IRENIRA 1,000 1,000 0
EENEHIRA FIAEEIESIA) 727,000 728,000 -1,000
NEEEZIA(—R) 724,000 725,000 -1,000
I NELBSWANE) 1,000 1,000 0
NEFHEIELINA(—R) 1,000 1,000 0
NEFHEELINALNE) 1,000 1,000 0
NEFH - BREERERATLRA 5,148,000 5,149,000 -1,000
A EZEA 4,680,000 2,681,000 1,000
=z
ELBEESPNA(LE) 1,000 1,000 0
* EXERBENA () 467,000 467,000 0
&
ZTDHDEFEILA 1,000 1,000 0
EJ) ZEBZIA 1,000 1,000 0
ZDHDIXA 2,000 2,000 0
= ZAFEEIRA 1,000 1,000 0
HUA 1,000 1,000 0
& A 1.000 1.000 0
2 A EERYEUIA 1,000 1,000 0
S ERYEILA 1,000 1,000 0
IR %sziﬁ_ﬂ ISUAE RN 1,000 1,000 0
EEFHIULAEQ) 12,429,000 12,433,000 -4,000
% AMEEXH 12,696,000 13,076,000 -380,000
— BB faH X 4,633,000 4,836,000 -203,000
BEESXH 1,187,000 1,250,000 -63,000
FEEEHHEHR S H 5,836,000 5,836,000 0
%
EERAMEXH 1,040,000 1,154,000 -114,000
Hi EXEXH 1,153,000 1,177,000 -24,000
REGEETH 5,000 5,000 0
AR E X H 10,000 10,000 0
HEREEREXH 1,000 1,000 0
RiEH X H 530,000 530,000 0
EREHXZH 315,000 405,000 -90,000
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B E & B 2EETEEE SIFEEFHE 2
HiHE X H 127,000 111,000 16,000
= HREEEXH 1,000 1,000 0
BHERAE 126,000 110,000 16,000
* wREXBEXH 1,000 1,000 0
= BB RE 1,000 1,000 0
HHEM R E X H 1,000 1,000 0
B | % GRS S 1,000 1,000 0
BiEEXH 100,000 50,000 50,000
< BIEEWRE X H 1,000 1,000 0
L3RE X H 10,000 10,000 0
& | FiE X 1,000 1,000 0
HeEXH 10,000 10,000 0
& EiE i ob-dan] 30,000 30,000 0
Iy BREEXH 10,000 10,000 0
EREXTH 220,000 245,000 -25,000
% EFEEERTH 220,000 245,000 -25,000
FETHZHEQ) 14,069,000 14,498,000 -429,000
SEFHESUNZEERIG)=(1)-(2) -1,640,000 -2,065,000 425,000

1]

% | A [EREEZRAGG® 0 0 0
5K B EERSXH 2,000 2,000 0
INE | % HiERE RS E 1,000 1,000 0
X & HiERE RS H 1,000 1,000 0
—F | RERWMMiERREXH 1,000 1,000 0

1< TR EEE R HEG) 2,000 2,000 0

& [BEEREEL T =EE6)=4)-(5) ~2,000 —2,000 0

Bl = X o fEligE A URA 800,000 800,000 0

Bl X EIEAEIA 800,000 800,000 0

— N BEEAY -t AFERARSRBASIA 800,000 800,000 0
0%) H—EXR S REgEATIRA 400,000 500,000 -100,000
o A H—E XX REHEASILA 400,000 500,000 -100,000
D BENEZEEEY-tARAEEASIA 400,000 500,000 -100,000
E Z DD EENRAET(T) 1,200,000 1,300,000 ~100,000
) WA XS ERAEH 263,000 285,000 -22,000
Iz R XD EEAERE 263,000 285,000 -22,000
J: BIZ HhisEN B ENARSRRASTH 263,000 285,000 —22’000
> H—EARDREEAETH 1,000 1,000 0
| F—EARSERAZ X H 1,000 1,000 0
X BENEXBEEY-CARSRHRAS X 1,000 1,000 0
~ Z DD EEIZ HETH(8) 264,000 286,000 -22,000
ZFDMDFEEE £ INKEEE(9)=(7)~(8) 936,000 1,014,000 -78,000
FiEEXZHE00) 1,000 1,000 0
LHAERINZ EEE S ET(11)=(3)+(6)+(9)-(10) -707,000 -1,054,000 347,000
T ES TN T 1D 707,000 1,054,000 ~347,000
LR TIEEERS(11)+12) 0 0 0
IRA&Et 14,336,000 14,787,000 -451,000

XHEE 14,336,000 14,787,000 -451,000

=51%5 0 0 0
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EERLY—EXFTFY—EXRS

(EEHEBRENE %éﬁ%_a%ﬁ EEREIBRIENEENEETE. ZBAN-DAKE) (BA: )
B & ® B 2EEFEL INEEFELE = B
RERE@EhEIRA 1,000 1,000 0
X ETF @ B IR A 1,000 1,000 0
ZT DM DEENEUNA 1,000 1,000 0
EEEAY—EXEEERA 4,812,000 4,812,000 0
B XERTEIA 4,264,000 4,264,000 0
MEERTEINA 4,264,000 4,264,000 0
I
FRAEAELSIA 452,000 452,000 0
A ZOMDBEEZRA 96,000 96,000 0
EEIEEET TN 96,000 96,000 0
S EERYSINA 1,000 1,000 0
% ZRFARSERA 1,000 1,000 0
ZHRFAEE LEIRA 1,000 1,000 0
= BEFEIURAG() 4,814,000 4,814,000 0
= AHEZH 2,938,000 2,938,000 0
EEHBEHREXE 2,938,000 2,938,000 0
)
1z
EXEXH 2,413,000 2,462,000 -49,000
IS REFEERH 50,000 50,000 0
2 HEREREREXE 320,000 310,000 10,000
EREMXH 296,000 300,000 -4,000
R * HifE X H 1,254,000 1,310,000 -56,000
% HRREZEEXH 714,000 770,000 -56,000
th :
EEAKLE 540,000 540,000 0
WREXBEXH 26,000 26,000 0
R ERE X H 26,000 26,000 0
HHEM R E X H 10,000 10,000 0
FRIRAEX H 136,000 136,000 0
BiEE X H 100,000 100,000 0
BIEEREZH 201,000 200,000 1,000
FHHZIH 20,000 20,000 0
EXREHZHE(2) 5,351,000 5,400,000 -49,000
EETHESIZ EE(3)=(1)-(2) -537,000 -586,000 49,000
Iz ljr}
&1 | A [BERERZIRAHA@) 0 0 0
5% %
S | EEESEmIG
% (& XA & 0 0 0
—F | EREHEESIZEEE(6)=(4)-(5) 0 0 0
gg% I HY—EXRXR 2 BERAEIRA 200,000 1,000 199,000
R0 H—E AR RERAZIRA 200,000 1,000 199,000
¥ 4 A HHZIEEE-CARSREHBASITA 200,000 1,000 199,000
- D T DD IFEEIURAETT) 200,000 1,000 199,000
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B E ® B 2FEFHEE IFEFHE LA

WA XS ERAEH 4,000 4,000 0
Wa XD ERAEXH 4,000 4,000 0
— b2 R G BERAX A ERARX M 2.000 2.000 0

J: %
%) () ﬁ HAHLESSMEARHRBALZH 1,000 1,000 0
uy ﬁl—j' NERREENAXSHBRASIE 1 ,OOO 1 7000 0
52 ?) Y—EARDEBAE I 1,000 1,000 0
— @J Y—EAR D HERASTH 1,000 1,000 0
(- HHRIEE LY -C AR RHRA S T 1,000 1,000 0
Z DD EEI X HE1(8) 5,000 5,000 0
ZDHDFEEE S IRTEEE9)=(7)~(8) 195,000 -4,000 199,000
¥ fE & X H(10) 10,000 10,000 0
S E U ERE S ET(11)=(3)+(6)+(9)-(10) -352,000 -600,000 248,000
IR R Ih B & am(12) 352,000 600,000 ~248,000
ZEHRZILEEERSU1)+H(12) 0 0 0
IRA&ET 5,366,000 5,415,000 -49,000
XHEE 5,366,000 5,415,000 -49,000
=51&E 0 0 0
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HERIEERY—EXRS

(EE REAATIEEL B ETE BEERATIEBACE SGHEARY -t ASF AN EOERES) (EAMH)
EERE 2EEFEL JFEFHE = B
RERE@EhEIRA 1,000 1,000 0
I X ETF @ B IR A 1,000 1,000 0
ZT DM DEENEUNA 1,000 1,000 0
EEEUY—EREFEIA 1,165,000 756,000 409,000
5 B X R E A EIRA 1,165,000 756,000 409,000
A STERAX ERAERA 1,165,000 756,000 409,000
= EEFHRAGW) 1,166,000 757,000 409,000
S EXEXH 535,000 545,000 -10,000
MHE X H 1,000 10,000 -9,000
)| HEREEREXH 20,000 20,000 0
RIEFI X H 7,000 7,000 0
Iz M 234,000 240,000 -6,000
EXTE- 36,000 14,000 22,000
& | X ERARE 36,000 14,000 22,000
REXBEXH 10,000 10,000 0
% HBERE 10,000 10,000 0
i | PHEMEE X H 20,000 20,000 0
FIRIEAE X H 1,000 1,000 0
% EHEEX 50,000 50,000 0
— BIEEMRE X H 20,000 20,000 0
FHAH 10,000 10,000 0
REH X H 126,000 143,000 -17,000
EXEHHEQ) 535,000 545,000 -10,000
EXEFHESIZEE(3)=(1)-(2) 631,000 212,000 419,000
[ i}
gﬁ A [RERZRAG® 0 0 0
wE | X _
3 | B [EREREETHEG) 0 0 0
—F | R HEE I EE(6)=(4)-(5) 0 0 0
H—EXR S HERAEIRA 1,000 1,000 0
Z )} H—EZARDRERASIRA 1,000 1,000 0
D A BRI -t AR —E ARHTHRARITA 1,000 1,000 0
1t Z DD FEEIRAE D) 1,000 1,000 0
D Wa XD ERAEXH 800,000 800,000 0
b WEXRSEEAETH 800,000 800,000 0
&) NEEBFEIER S ERAS L 800,000 800,000 0
T | X |[Y—EARPRERASZH 201,000 2,000 199,000
& | H H—E ZR PRIBRAS X H 201,000 2,000 199,000
%) EEEL Y —E RBEY-L AR EA ST H 200,000 1,000 199,000
lli? YAESBEBEY-LARSMEAZH 1 ,000 1 Y000 0
_ Z DD EENZ HEH(8) 1,001,000 802,000 199,000
F DD EBE S INK E58(9)=(7)-(8) -1,000,000 -801,000 -199,000
¥ fm & 2 H(10) 2,000 2,000 0
LEE SN E LS 5H(11)=(3)+(6)+(9)-(10) -371,000 -591,000 220,000
AR L EE xS (12) 371,000 591,000 ~220,000
LRI ILERERSU1)+(12) 0 0 0
IRA & 1,538,000 1,349,000 189,000
XA 1,538,000 1,349,000 189,000
=51%5 0 0 0
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YAESHRFEREXEY—EXRS

(I EB R A —YAESEEFDZ T EETH) (Bifsr:M)
BEEE 2EEFHE SIFEEFEE = B

FAEUIRA 1,000 1,000 0

FEEURA 1,000 1,000 0

FRHDBFFEUINA 1,000 1,000 0

SZEEINA 35,249,000 30,781,000 4,468,000

)} HRETHZEEEIRA 35,249,000 30,781,000 4,468,000

YAESELFEREESESIA 35,249,000 30,781,000 4,468,000

EEILA 4,000,000 4,000,000 0

ZDMDEZEIRA 4,000,000 4,000,000 0

A EETBIRA 4,000,000 4,000,000 0

ZEF| BB Y UXA 1,000 1,000 0

ZHFI BB LS UNA 1,000 1,000 0

ZHF B L2 URA 1,000 1,000 0

FEFEFIRAG) 39,251,000 34,783,000 4,468,000

AGFEXH 25,720,000 24,502,000 1,218,000

BB H 16,742,000 16,685,000 57,000

% BEEEXH 4,022,000 3,836,000 186,000

FEPBEHREGIH 1,656,000 840,000 816,000

£ EERMEX W 3,300,000 3,141,000 159,000

E EXEXH 9,158,000 9,330,000 ~172,000

REFEERH 40,000 40,000 0

)] KESEREZH 1,310,000 1,310,000 0

AR E X 180,000 180,000 0

[ * HERERREXL 572,000 561,000 11,000

& RIEFZH 647,000 750,000 -103,000

3

Iz EEHZH 232,000 392,000 -160,000

X BEEEELL 330,000 330,000 0

~ BHiRE X 1,088,000 1,008,000 80,000

HmEEELH 530,000 460,000 70,000

BHERHE 558,000 548,000 10,000

WREXAEXLE 140,000 120,000 20,000

EHEREXE 140,000 120,000 20,000

H HEMEERE 30,000 50,000 -20,000

BiEEZH 200,000 200,000 0

BIEERERLE 260,000 260,000 0

SEEXH 15,000 15,000 0

FHHZH 50,000 50,000 0

HEEXLH 64,000 64,000 0

EEXETEEXE 4,000,000 4,000,000 0

=REXH 380,000 246,000 134,000

g B & 150,000 0 150,000

*
%
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EEEE 2EETEE I FEEFHEE = =

— ;511 BRIELEEXE 230,000 246,000 -16,000
K

2 EXEHZHE 35,258,000 34,078,000 1,180,000

R EEEZHEeRZ B0 -(1)(2) 3,993,000 705,000 3,288,000

IR B & i B ERISURA 0 0 0

= A MR BIEEIRAGT@4) 0 0 0

£ ElEEERSXH 3,257,000 2,000 3,255,000

Iy & HEmERE S BG X 3,256,000 1,000 3,244,000

Xfm | X ERE RS IS 3,245,000 1,000 3,244,000

— 5| 2L e 11,000 0 11,000

LE EERUVERZREIE 1,000 1.000 0

2 e 5% B i = 2 HHEH(5) 3,257,000 2,000 3,255,000

B EEE SN EERA(6)=(4)-(5) -3,257,000 -2,000 -3,255,000

H—ERR S ERAEIRA 1,000 1,000 0

7| IR H—ERARSRRAEIRA 1,000 1,000 0

z® A RSSEB LY —C AR HRHEASILA 1,000 1,000 0

Iz fth Z DD FEENURAET(T) 1,000 1,000 0

P Bl R IR A S 3 737,000 704,000 33,000

m | X WX ERAE T 737,000 704,000 33,000

B | W[ sesistnsrammasss 737,000 704,000 33,000

1< Z DD EEIZ HE1(8) 737,000 704,000 33,000

* [ZonEnE2REEE 0= ~736.000 703,000 33,000

T im & 2 Hi(10) 0 0 0

S HIE S UK EEE S E1(11)=(3)+(6)+(9)-(10) 0 0 0

BRIV ESXE(12) 0 0 0

LHRZILEEERSU1)+(12) 0 0 0

IRA&ET 39,252,000 34,784,000 4,468,000

XHER 39,252,000 34,784,000 4,468,000

E51%E 0 0 0
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HERUAEEENERY—EARS

MHEEUEEENEEEEFE ESEHTEIHLTOENEE) (B[
B & ® B 2EEFEL JFEFHE = B
BEFERIA 1,000,000 1,000,000 0
= EEEIRA 1,000,000 1,000,000 0
| W | ZERFSEIEIRA 1,000 1,000 0
& A ZRFIERYSIA 1,000 1,000 0
B ZERFEE HEIRA 1,000 1,000 0
£ EEFHIRAGU) 1,001,000 1,001,000 0
5 | EEE S 4 2,902,000 2,902,000 0
o m BitEXH 2,902,000 2,902,000 0
X EEEHZHE?) 2,902,000 2,902,000 0
| EEEHES T EZEQ)=(1)-(2) —1,901,000 -1,901,000 0
= ljr} _ _
i':ﬁ A MR BIESIRA@ 0 0 0
ot B
ﬁ% H R RS HEG) 0 0 0
Pl iR B E S IR E5(6)=(4)-(5) 0 0 0
. Bl 5 X 53 T AR A R URA 1,000 1,000 0
ISR Bl R 53 TR A B URA 1,000 1,000 0
é 101; /-\ ERRTEESENARPEBALINA 1 ,OOO 1 ,000 0
R T DD EBNURAEHT) 1,000 1,000 0
X [ X
g | H | Z00ES T HELS) 0 0 0
IS [ZDthD;ESHE SN Z4E(9)=(7)-(8) 1,000 1,000 0
¥ fim & 32 Hi(10) 0 0 0
HHE U ERE S ET(11)=(3)+(6)+(9)-(10) -1,900,000 -1,900,000 0
AR I ERZE12) 1,900,000 1,900,000 0
LHRZILEEERSU1)+(12) 0 0 0
IRA&ET 2,902,000 2,902,000 0
XHEE 2,902,000 2,902,000 0
E=5|15%5 0 0 0
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SHERAREENERYERARSD

(BEEBEEHEEEETEH) (B M)
B & ® B 2FEEFHEE JNFEEFHEE = =
BEFERIA 50,000 50,000 0
= I EEEUILA 50,000 50,000 0
x ZERFI BB L FIA 1,000 1,000 0
AN Y ZRFIERYSIA 1,000 1,000 0
B ZERFEE HEIRA 1,000 1,000 0
£ EEFEIRAG) 51,000 51,000 0
5 | EEE S 4 1,733,000 1,733,000 0
o m Ste%H 1,733,000 1,733,000 0
X EEEHZHE?) 1,733,000 1,733,000 0
| EEEHES T EZEQ)=(1)-(2) -1,682,000 -1,682,000 0
= ljr} _ _
i':ﬁ A MR BIESIRA@ 0 0 0
ot B
ﬁ% H R RS HEG) 0 0 0
Pl iR B E S IR E5(6)=(4)-(5) 0 0 0
—~ R X 7 R A R URA 1,000 1,000 0
ISR Bl R 53 TR A B URA 1,000 1,000 0
é D ]\ ERRTEESENARPEBALIRA 1,000 1,000 0
Hﬂ% T DD EBNURAEHT) 1,000 1,000 0
X [ X
g | H | Z00ES T HELS) 0 0 0
IS [ZDthD;ESHE SN Z4E(9)=(7)-(8) 1,000 1,000 0
¥ fim & 32 Hi(10) 0 0 0
HHE U ERE S ET(11)=(3)+(6)+(9)-(10) -1,681,000 -1,681,000 0
AR EEZRE(12) 1,681,000 1,681,000 0
LHRZILEEERSU1)+(12) 0 0 0
IRA&ET 1,733,000 1,733,000 0
XHEE 1,733,000 1,733,000 0
E=5|15%5 0 0 0
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AERRUAEEENERY—EARS

(AREHIGICDEFRUEESEGEERATE) (B[,
B xE & B 2EETEE VEEFEE = 2
ZEEULA 721,000 790,000 -69,000
MEFEHBZESINA 721,000 790,000 -69,000
Hﬂ EEEAEEEMNBEZIEWMA 696,000 765,000 -69,000
EFRIESENTEEZTSWNAGER 25,000 25,000 0
=2 ZHAERESRA 1,000 1,000 0
£ | A FRARRISLIA 1,000 1,000 0
& AT GEE TN 1,000 1,000 0
EZJ BEFREUNAGO) 722,000 791,000 -69,000
OE ANEEXZH 635,000 635,000 0
z BB #AF 635,000 635,000 0
I | X | EXREXHE 87,000 156,000 —69,000
% HEGRERMEXH 44,000 70,000 -26,000
= BIEEMREIH 34,000 34,000 0
H SEEXH 2,000 2,000 0
FHEF X 7,000 50,000 -43,000
SXEHXHEQ) 722,000 791,000 ~69,000
=EREERINTEE(3)=(1)-(2) 0 0 0
a | UR
L 7| A [FEERERAR® 0 0 ;
ot E3
@jﬁ MR EEEXHEG) 0 0 0
Al e R B S & S N Z4A(6)=(4)-(5) 0 0 0
: IR
uyg’%‘ A | Z DD FESIRAETHT) 0 0 0
Izl ¥
H%um H [ZothoEE X HEHE) 0 0 0
ED D ETE 2R =5 9)=(1)-8) 0 0 0
FiEE = H(10) 0 0 0
LHERINZ EEE S 5T(11)=(3)+(6)+(9)-(10) 0 0 0
IR R Ih B & am(12) 0 0 0
ZHRZIVERZRE(11)+(12) 0 0 0
IRA&Et 722,000 791,000 -69,000
XHEE 722,000 791,000 -69,000
E51&5 0 0 0
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ERRTEESXY— I:XIZ’\

(EERTEEEEFTHE ERRTOMAZRUENER) (Bfr:Mm)
EERE 2EEFEL IFEFHE = B
FHEUA 1,400,000 1,400,000 0
I} BREREBSFHEIA 1,400,000 1,400,000 0
= SZIF R L EIRA 1,000 10,000 -9,000
w ZHF SE L EULA 1,000 10,000 -9,000
z | A EERTRZIABRLSIA 1,000 10,000 -9,000
g EEFHIRAFU) 1,401,000 1,410,000 -9,000
= EXEXH 1,400,000 1,400,000 0
J: ﬁ Kuﬂ%il‘ﬂ 0 0 0
2 ERTEEXLE 1,400,000 1,400,000 0
iz EEXHE 1,300,000 1,300,000 0
= | — BB 100,000 100,000 0
FETEXHEN2) 1,400,000 1,400,000 0
=ERBESINZEE(3)=(1)-(2) 1,000 10,000 -9,000
w | IR
L 7| A [FEERERAR® 0 0 5
oLt
1]3; TE; | e 2% 2 i 2 XX 51 (5) 0 0 0
Pl i SR B i 2 B RN E 5B (6)=(4)-(5) 0 0 0
PR XD ERRASIA 0 0 0
7 | U XD ERASIRA 0 0 0
D | A Mt 4 B 2 A5 K SRR A B AR A 0 0 0
‘;;’ Z DD EBNILAET() 0 0 0
S LR X o PR A & X2 1,002,000 7,894,000 6,892,000
) LR X 53 R A < 3% 1,002,000 7,894,000 —6,892,000
< | % BRI BRI R X D TRA S X H 1,000,000 7,892,000 -6,892,000
%: ﬁ INOERBENEARSBRASIE 2.000 2,000 0
1z
b2 Z DD EBNZ HEHS) 1,002,000 7,894,000 ~6,892,000
~ | ZDMDEEE S INK EEE9)=(7)~(8) -1,002,000 —7,894,000 6,892,000
¥ & X H(10) 1,401,000 1,957,000 -556,000
LHE S INT EEES EH(11)=(3)+(6)+(9)-(10) -2,402,000 -9,841,000 7,439,000
I ES AN e 1) 2,402,000 9,841,000 7,439,000
SHRZILEEES11)+(12) 0 0 0
IRA &5t 3,803,000 11,251,000 -7,448,000
XHEE 3,803,000 11,251,000 -7,448,000
E=51%s 0 0 0
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MOREEEEEXRY—EXRS

(MOEEELEEFE A EREARBEESOMENER) (Bfr:M)
B xE ® B 2EETFHE IFEEFEE = 2
FEIRA 100,000 100,000 0
= MOERSHFMAFRILA 100,000 100,000 0
S ZIF S AR S EIIA 63,000 63,000 0
'S ) CIISEREEAV PN 63,000 63,000 0
g | A ZIFERYSIZA 1,000 1,000 0
[z MOERSBEITEEZIFE 50,000 50,000 0
S MOEELFRLSULA 12,000 12,000 0
f;( FEREURAGO) 163,000 163,000 0
b2
ol AEE 3 s o) 0 0 0
SEREBESINFTEE(3)=(1)-(2) 163,000 163,000 0
| UR
L 7| A [FEERERAR® 0 0 ;
oLt
ﬁ{fﬁ H | e 2% B i 2 XX 51 (5) 0 0 0
Pl iR B e S E I = 56(6)=(4)-(5) 0 0 0
I HEBTEERBREIA 11,897,000 5,564,000 6,333,000
A MOEESETEERRINA 11,897,000 5,564,000 6,333,000
— Z DD ;EEIURAETH(T) 11,897,000 5,564,000 6,333,000
O’C) B A s e 0 0 0
i BRERMIIFREXE 0 0 0
o HEBIEEXH 163,000 163,000 0
SE MOERERETEEH 163,000 163,000 0
# | % |RRRSEEASZH 11,897,000 5,564,000 6,333,000
Iz R XD EEAERE 11,897,000 5,564,000 6,333,000
& | H R ERARRAMRA SRS 11,897,000 5,564,000 6,333,000
)
I
*
Z DD EE) X HE1(8) 12,060,000 5,727,000 6,333,000
FDHDEENE & UK EEE(9)=(7)-(8) -163,000 -163,000 0
FiEE = H(10) 0 0
LHERINZ EEE S 5T(11)=(3)+(6)+(9)-(10) 0 0 0
AR EFZE(12) 0 0 0
LEHXRZILEEERS11)+12) 0 0 0
IRA&E 12,060,000 5,727,000 6,333,000
XA 12,060,000 5,727,000 6,333,000
E51&5 0 0 0
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